1. 524 9o b &
Fhed 42 pet @ o,

D S
=%

_79} 49] 71| £ A, —123} —79]
2= A, B AYolo] 7125 Patolat.

A~

-
=
-



%Oﬂfﬂ Bost Adizlo] s Rt 2L A

=9

@ 37H @ 47H @ 67H



(3% -5)

(=7 4)+ (6+__))




4.

29 x xx 5 9] oF40] A7} 16 747} =171 9]
Fatolat,

D
=%

st 7}



5.

214 360 x n ©] AS=0] Al Fo] Aot T uff, n o] E 5
RE FSHAQ (T, n 2 160 n]RFe] Zp¢d4=oltt)

D
D =g

o e

o]
AN

L
-

A

tlo



=

F 259 A2 BE F A

oo

13 32 57 83 97 171

® 178 @ 274 ® 374 @ 4 7K ® 57



7.

273100 ©] Q1] 2fe] o] 5718 FHHA?

@1 @ 3 ® 9

@ 7

® 0



7F2 80m , A= 96m 1 AAH Refel el ol dAe 14
2 e Al AL etk 4 7 o] BgoloE HHEA] ZIEe A9
Stal, 212 7hs s AA ARgSkE Al & w, dadh Zde] e

afolat,

e = 4l

°
o

-

il



